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Exam Instructions

1. This mock test is based on the latest AISSEE Class 9 exam pattern.
2. The paper consists of 150 questions for a total of 400 marks.

Mathematics: 50 Questions – 200 Marks
Intelligence: 25 Questions – 50 Marks
English: 25 Questions – 50 Marks
General Science: 25 Questions – 50 Marks
Social Science: 25 Questions – 50 Marks

 
3. Time Duration: 3 Hours (180 minutes)
4. Negative marking: There is no negative marking.
 
 
 
Note: This test is brought to you by Studybox Doon – India’s Trusted Online Institute for Sainik School, RMS & RIMC Preparation.
 
To join our full course with live classes, weekly tests, and expert mentorship – contact us at:
� +91-91511 70611 | � www.studyboxdoon.com

Instruction: Write the following in indirect speech.
The monk said to the followers “Anger kills Intellect”

A. The monk said to the followers anger kills intellect B. The monk told the followers that anger kills intellect

C. The monk asked followers if anger kills intellect D. The monk told the followers that anger killed intellect

Please mark (✓) for the correct answer.

Instruction: Write the following in indirect speech. ​
The poor beggar said, "O God, have mercy on my soul".

A. The poor beggar prayed to God to have mercy on his
soul.

B. The poor beggar, invoking God, implored him to have
mercy on his soul.

C. The poor beggar exclaimed that God, have mercy on his
soul.

D. The poor beggar asked God to have mercy on his soul

Please mark (✓) for the correct answer.

Question: 1 of 150 Marks: 2QID: 1967

Question: 2 of 150 Marks: 2QID: 1968
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Instruction: Write the following in indirect speech.
They said, ‘Let us come in’.

A. They told that let them be allowed to come in. B. They requested that they might be allowed to come in.

C. They said that if they are allowed to come in. D. They requested me to let them come in.

Please mark (✓) for the correct answer.

Instruction: Fill in the (1) blank with the correct option
The peculiarity …….(1)……. ill temper is that it is the vice of the …….(2)…….. It is often the one blot …….(3)…….
an otherwise noble character.

A. with B. of

C. for D. to

Please mark (✓) for the correct answer.

Instruction: Fill in the (2) blank with the correct option
The peculiarity …….(1)……. ill temper is that it is the vice of the …….(2)…….. It is often the one blot …….(3)…….
an otherwise noble character.

A. virtue B. virtues

C. virtuous D. virtuosity

Please mark (✓) for the correct answer.

Instruction: Fill in the (3) blank with the correct option
The peculiarity …….(1)……. ill temper is that it is the vice of the …….(2)…….. It is often the one blot …….(3)…….
an otherwise noble character.

A. on B. in

C. with D. of

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
He has learned…….to prepare cold coffee.

A. since B. that

C. than D. how

Please mark (✓) for the correct answer.

Question: 3 of 150 Marks: 2QID: 1969

Question: 4 of 150 Marks: 2QID: 1970

Question: 5 of 150 Marks: 2QID: 1971

Question: 6 of 150 Marks: 2QID: 1972

Question: 7 of 150 Marks: 2QID: 1979
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Instruction: Read the para and questions given below and write the option you consider the most appropriate in
your answer sheet
New Delhi: Atithi Devo Bhavah. To make visitors to the city feel welcome during the Commonwealth Games, India
Tourism Development Corporation (ITDC) is set to train taxi and auto drivers, CISF personnel posted at
monuments, dhaba owners, hotel sta etc. Participants will be taught English as well as courtesy and ways to
communicate with tourists. At present, there is a shortage of trained guides in the city and with Commonwealth
Games drawing close, the issue has to be addressed promptly.
With hundreds of historical sites to visit and each monument boasting its own unique history, foreign nationals
are often left to fend for themselves and depend on tourist books and brochures for information. Language is
another problem. Quite a contrast to facilities o ered in tourist sites in western countries, where trained guides
pro cient in several languages-are easily available to aid visitors apart from group-guided trips at regular
intervals. Although the Archeological Survey of India (ASI) plans to introduce audio guide services in ve
languages at some world heritage sites our experts point that not a single monument or tourist place in the city
has an interpretation centre where tourists can come and get all information pertaining to a particular site. ASI is
also in the process of bringing out more brochures and guides for foreign visitors in the city. Experts say such
facilities are crucial if the government wants to promote Delhi as a ‘heritage city’. Various agencies like INTACH
are also involved in the plans
Under ITDC’s plans, etiquette training for the Games will also be provided to residents who o er rooms to
foreigners under Delhi government’s bed and breakfast scheme. “House-owners will be given hospitality related
training and a brief of Indian tourism scenario. Most visitors generally question their hosts on information about
the city so they will be provided information on the golden triangle- Delhi, Agra and Jaipur as well as where
tourists should go visiting in Delhi,” said an offcial.

What are the initiatives to be taken up by the India Tourism Development Corporation to make the
visitors feel welcome during the Commonwealth Games?

A. training of drivers, CISF personals, dhaba owners and
hotel staff.

B. promoting the sale of tourist books and brochures.

C. arranging audio cassettes and tapes on tourism. D. constructing more bed and breakfast homes.

Please mark (✓) for the correct answer.

Instruction: Fill the blanks with the correct conjunction from the options.
His brother is rich………he is a miser.

A. So B. and

C. yet D. but

Please mark (✓) for the correct answer.

Instruction: Fill the blanks with the correct conjunction from the options.
Ajay ran fast……….he was able to catch the train.

A. Because B. so

C. and D. but

Please mark (✓) for the correct answer.

Question: 8 of 150 Marks: 2QID: 1958

Question: 9 of 150 Marks: 2QID: 1973

Question: 10 of 150 Marks: 2QID: 1974
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Fill the blanks with the correct conjunction from the options.
He informed me…his father had died.

A. unless B. that

C. when D. although

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
Today is hotter…….yesterday.

A. than B. from

C. because D. that

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
They came to me……they needed my help.

A. than B. because

C. or D. that

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
I do not know the reason…..her teacher hates me.

A. why B. for

C. when D. unless

Please mark (✓) for the correct answer.

Question: 11 of 150 Marks: 2QID: 1975

Question: 12 of 150 Marks: 2QID: 1976

Question: 13 of 150 Marks: 2QID: 1977

Question: 14 of 150 Marks: 2QID: 1978
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Instruction: Read the para and questions given below and write the option you consider the most appropriate in
your answer sheet
New Delhi: Atithi Devo Bhavah. To make visitors to the city feel welcome during the Commonwealth Games, India
Tourism Development Corporation (ITDC) is set to train taxi and auto drivers, CISF personnel posted at
monuments, dhaba owners, hotel sta etc. Participants will be taught English as well as courtesy and ways to
communicate with tourists. At present, there is a shortage of trained guides in the city and with Commonwealth
Games drawing close, the issue has to be addressed promptly.
With hundreds of historical sites to visit and each monument boasting its own unique history, foreign nationals
are often left to fend for themselves and depend on tourist books and brochures for information. Language is
another problem. Quite a contrast to facilities o ered in tourist sites in western countries, where trained guides
pro cient in several languages-are easily available to aid visitors apart from group-guided trips at regular
intervals. Although the Archeological Survey of India (ASI) plans to introduce audio guide services in ve
languages at some world heritage sites our experts point that not a single monument or tourist place in the city
has an interpretation centre where tourists can come and get all information pertaining to a particular site. ASI is
also in the process of bringing out more brochures and guides for foreign visitors in the city. Experts say such
facilities are crucial if the government wants to promote Delhi as a ‘heritage city’. Various agencies like INTACH
are also involved in the plans
Under ITDC’s plans, etiquette training for the Games will also be provided to residents who o er rooms to
foreigners under Delhi government’s bed and breakfast scheme. “House-owners will be given hospitality related
training and a brief of Indian tourism scenario. Most visitors generally question their hosts on information about
the city so they will be provided information on the golden triangle- Delhi, Agra and Jaipur as well as where
tourists should go visiting in Delhi,” said an offcial.

How have the western countries managed to o er aid and better facilities to their tourists?

A. by providing good tourist books and brochures. B. by providing well-behaved and courteous guides.

C. by training guides in several languages and group-
guided trips at regular intervals.

D. by allowing foreign nationals to fend for themselves.

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
……….he was the most intelligent boy of our class he had to sit on the last bench.

A. Though B. so

C. when D. or

Please mark (✓) for the correct answer.

Fill the blanks with the correct conjunction from the options.
It is up to you either stay in the class…….leave it.

A. but B. or

C. yet D. and

Please mark (✓) for the correct answer.

Question: 15 of 150 Marks: 2QID: 1959

Question: 16 of 150 Marks: 2QID: 1980

Question: 17 of 150 Marks: 2QID: 1981
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Fill the blanks with the correct conjunction from the options.
He was staying in a village……..nobody welcomed him.

A. Where B. because

C. how D. when

Please mark (✓) for the correct answer.

Instruction: Read the para and questions given below and write the option you consider the most appropriate in
your answer sheet
New Delhi: Atithi Devo Bhavah. To make visitors to the city feel welcome during the Commonwealth Games, India
Tourism Development Corporation (ITDC) is set to train taxi and auto drivers, CISF personnel posted at
monuments, dhaba owners, hotel sta etc. Participants will be taught English as well as courtesy and ways to
communicate with tourists. At present, there is a shortage of trained guides in the city and with Commonwealth
Games drawing close, the issue has to be addressed promptly.
With hundreds of historical sites to visit and each monument boasting its own unique history, foreign nationals
are often left to fend for themselves and depend on tourist books and brochures for information. Language is
another problem. Quite a contrast to facilities o ered in tourist sites in western countries, where trained guides
pro cient in several languages-are easily available to aid visitors apart from group-guided trips at regular
intervals. Although the Archeological Survey of India (ASI) plans to introduce audio guide services in ve
languages at some world heritage sites our experts point that not a single monument or tourist place in the city
has an interpretation centre where tourists can come and get all information pertaining to a particular site. ASI is
also in the process of bringing out more brochures and guides for foreign visitors in the city. Experts say such
facilities are crucial if the government wants to promote Delhi as a ‘heritage city’. Various agencies like INTACH
are also involved in the plans
Under ITDC’s plans, etiquette training for the Games will also be provided to residents who o er rooms to
foreigners under Delhi government’s bed and breakfast scheme. “House-owners will be given hospitality related
training and a brief of Indian tourism scenario. Most visitors generally question their hosts on information about
the city so they will be provided information on the golden triangle- Delhi, Agra and Jaipur as well as where
tourists should go visiting in Delhi,” said an offcial.

Apart from the guides and the guided tours, Archaeological Survey of India has expressed the need for
establishing ______________ at historical sites to help tourists.

A. interpretation centres. B. rehabilitation centres.

C. cessation centres. D. training centres.

Please mark (✓) for the correct answer.

Question: 18 of 150 Marks: 2QID: 1982

Question: 19 of 150 Marks: 2QID: 1960
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Instruction: Read the para and questions given below and write the option you consider the most appropriate in
your answer sheet
New Delhi: Atithi Devo Bhavah. To make visitors to the city feel welcome during the Commonwealth Games, India
Tourism Development Corporation (ITDC) is set to train taxi and auto drivers, CISF personnel posted at
monuments, dhaba owners, hotel sta etc. Participants will be taught English as well as courtesy and ways to
communicate with tourists. At present, there is a shortage of trained guides in the city and with Commonwealth
Games drawing close, the issue has to be addressed promptly.
With hundreds of historical sites to visit and each monument boasting its own unique history, foreign nationals
are often left to fend for themselves and depend on tourist books and brochures for information. Language is
another problem. Quite a contrast to facilities o ered in tourist sites in western countries, where trained guides
pro cient in several languages-are easily available to aid visitors apart from group-guided trips at regular
intervals. Although the Archeological Survey of India (ASI) plans to introduce audio guide services in ve
languages at some world heritage sites our experts point that not a single monument or tourist place in the city
has an interpretation centre where tourists can come and get all information pertaining to a particular site. ASI is
also in the process of bringing out more brochures and guides for foreign visitors in the city. Experts say such
facilities are crucial if the government wants to promote Delhi as a ‘heritage city’. Various agencies like INTACH
are also involved in the plans
Under ITDC’s plans, etiquette training for the Games will also be provided to residents who o er rooms to
foreigners under Delhi government’s bed and breakfast scheme. “House-owners will be given hospitality related
training and a brief of Indian tourism scenario. Most visitors generally question their hosts on information about
the city so they will be provided information on the golden triangle- Delhi, Agra and Jaipur as well as where
tourists should go visiting in Delhi,” said an offcial.

What steps have been taken by ASI to promote Delhi as a heritage site?

A. making brochures very informative and training the
residents.

B. bringing out more brochures and involving other agencies
in planning and visitor management.

C. o ering tourists all sources of comfort for their stay and
visits to historical sites.

D. providing owners of bed and breakfast homes information
about Delhi, Agra and Jaipur.

Please mark (✓) for the correct answer.

Question: 20 of 150 Marks: 2QID: 1961
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Instruction: Read the para and questions given below and write the option you consider the most appropriate in
your answer sheet
New Delhi: Atithi Devo Bhavah. To make visitors to the city feel welcome during the Commonwealth Games, India
Tourism Development Corporation (ITDC) is set to train taxi and auto drivers, CISF personnel posted at
monuments, dhaba owners, hotel sta etc. Participants will be taught English as well as courtesy and ways to
communicate with tourists. At present, there is a shortage of trained guides in the city and with Commonwealth
Games drawing close, the issue has to be addressed promptly.
With hundreds of historical sites to visit and each monument boasting its own unique history, foreign nationals
are often left to fend for themselves and depend on tourist books and brochures for information. Language is
another problem. Quite a contrast to facilities o ered in tourist sites in western countries, where trained guides
pro cient in several languages-are easily available to aid visitors apart from group-guided trips at regular
intervals. Although the Archeological Survey of India (ASI) plans to introduce audio guide services in ve
languages at some world heritage sites our experts point that not a single monument or tourist place in the city
has an interpretation centre where tourists can come and get all information pertaining to a particular site. ASI is
also in the process of bringing out more brochures and guides for foreign visitors in the city. Experts say such
facilities are crucial if the government wants to promote Delhi as a ‘heritage city’. Various agencies like INTACH
are also involved in the plans
Under ITDC’s plans, etiquette training for the Games will also be provided to residents who o er rooms to
foreigners under Delhi government’s bed and breakfast scheme. “House-owners will be given hospitality related
training and a brief of Indian tourism scenario. Most visitors generally question their hosts on information about
the city so they will be provided information on the golden triangle- Delhi, Agra and Jaipur as well as where
tourists should go visiting in Delhi,” said an offcial.

_________________ are to be provided to residents who o er rooms to foreigners under ITDC’s plan.(
diffcult)

A. comfortable stay, friendly and hospitable treatment B. etiquette training, hospitality treatment

C. better tourist guides and interpretation centres D. visits to the golden triangle cities.

Please mark (✓) for the correct answer.

Instruction: Write the following in indirect speech.
He said to him,' Is not your name Khalid?'

A. He said that his name was Khalid B. He inquired whether his name was not Khalid

C. He asked is his name was not Khalid D. He asked why his name was Khalid

Please mark (✓) for the correct answer.

​Instruction: Write the following in indirect speech.
Ali said to the beggar, 'I know you very well’.

A. Ali recognized the beggar B. Ali told the beggar that he knew him very well

C. Beggar knew Ali too D. Beggar was recognized by Ali

Please mark (✓) for the correct answer.

Question: 21 of 150 Marks: 2QID: 1962

Question: 22 of 150 Marks: 2QID: 1963

Question: 23 of 150 Marks: 2QID: 1964
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Instruction: Write the following in indirect speech. ​
He said, "Yes, I'll come and see you."

A. He accepted that he will come and see me B. He said that he will come and see me

C. He agreed that he will come and see me D. He said that he would come and see me

Please mark (✓) for the correct answer.

Instruction: Write the following in indirect speech. ​
Ram remarked “What a wonderful day!”

A. Ram exclaimed that it was a wonderful day B. Ram asked if it was a wonderful day

C. Ram said what a wonderful day D. Ram asked what a wonderful day

Please mark (✓) for the correct answer.

A person who spends 200/3% of his income is able to save Rs 1200 per month. His monthly expenses ( in Rs)
is

A. 1200 B. 2400

C. 3000 D. 3200

Please mark (✓) for the correct answer.

If 80% of A = 50% of B and B = X% of A, then the value of X is:

A. 400 B. 300

C. 160 D. 150

Please mark (✓) for the correct answer.

If x is 80% of y, what percent of x is y?

A. 75% B. 80%

C. 100% D. 125%

Please mark (✓) for the correct answer.

Question: 24 of 150 Marks: 2QID: 1965

Question: 25 of 150 Marks: 2QID: 1966

Question: 26 of 150 Marks: 4QID: 1983

Question: 27 of 150 Marks: 4QID: 1984

Question: 28 of 150 Marks: 4QID: 1985
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If the length of the diagonal AC of a square ABCD is 5.2 cm, then the area of the square is :

A. 15.12 sq.cm B. 13.52 sq.cm

C. 12.62 sq.cm D. 10.00 sq.cm.

Please mark (✓) for the correct answer.

If the diagonals of two squares are in the ratio of 2 : 5, their area will be in the ratio of

A. 2 : 5 B. 2 : 5

C. 4 : 25 D. 4 : 5

Please mark (✓) for the correct answer.

The perimeter of ve squares are 24 cm, 32 cm, 40 cm, 76 cm and 80 cm respectively. The perimeter of
another square equal in area to sum of the areas of these squares is :

A. 31 cm B. 62 cm

C. 124 cm D. 961 cm

Please mark (✓) for the correct answer.

The average of five consecutive number is 16, the highest of these numbers is:

A. 21 B. 20

C. 18 D. none

Please mark (✓) for the correct answer.

The average of six numbers is 12. If each number is increased by 2, the new average is:

A. 8 B. 4

C. 14 D. 24

Please mark (✓) for the correct answer.

Question: 29 of 150 Marks: 4QID: 1986

Question: 30 of 150 Marks: 4QID: 1987

Question: 31 of 150 Marks: 4QID: 1988

Question: 32 of 150 Marks: 4QID: 1989

Question: 33 of 150 Marks: 4QID: 1990
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The mean of x+3, x+5, x+9 and x+11 is:

A. x+14 B. x+7

C. 2x+7 D. x+14

Please mark (✓) for the correct answer.

The di erence between the length and breadth of a rectangle is 23m. If its perimeter is 206 m, then its area
is

A. 1520 m​2 B. 2420 m​2

C. 2480 m​2 D. 2520 m​2

Please mark (✓) for the correct answer.

The product of two numbers is 4107. If the H.C.F. of the numbers is 37, the greater number is

A. 185 B. 111

C. 107 D. 101

Please mark (✓) for the correct answer.

A student has to score 30% marks to get through. If he gets 30 marks and fails by 30 marks. Find the
maximum marks set for the examination.

A. 180 B. 210

C. 200 D. 220

Please mark (✓) for the correct answer.

The sum of the present ages of a father and his son is 60 years. Six years ago, father's age was five times
the age of the son. After 6 years, son's age will be-

A. 12 years B. 14 years

C. 18 years D. 20 years

Please mark (✓) for the correct answer.

Question: 34 of 150 Marks: 4QID: 1991

Question: 35 of 150 Marks: 4QID: 1992

Question: 36 of 150 Marks: 4QID: 1993

Question: 37 of 150 Marks: 4QID: 1994

Question: 38 of 150 Marks: 4QID: 1995
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An error 2% in excess is made while measuring the side of a square. The percentage of error in the
calculated area of the square is-

A. 2% B. 2.02%

C. 4% D. 4.04%

Please mark (✓) for the correct answer.

A clock is started at noon. By 10 minutes past 5, the hour hand has turnod through-

A. 145 ° B. 150°

C. 155° D. 160°

Please mark (✓) for the correct answer.

An automobile nancier claims to be lending money at simple interest, but he includes the interest every
six months for calculating the principal. If he is charging an interest of 10%, the e ective rate of interest
becomes-

A. 10% B. 10.25%

C. 10.5% D. 10.75%

Please mark (✓) for the correct answer.

A man took loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had to pay Rs. 5400
interest only for the period. The principal amount borrowed by him was:

A. 15000 B. 12000

C. 10000 D. none

Please mark (✓) for the correct answer.

A lent Rs. 600 to B for 2 years and Rs. 150 to C for 4 years and received Rs. 90 from both as interest. Find
out rate of interest.

A. 5% B. 7%

C. 8% D. 9%

Please mark (✓) for the correct answer.

Question: 39 of 150 Marks: 4QID: 1996

Question: 40 of 150 Marks: 4QID: 1997

Question: 41 of 150 Marks: 4QID: 1998

Question: 42 of 150 Marks: 4QID: 1999

Question: 43 of 150 Marks: 4QID: 2000
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In a certain store, the profit is 320% of the cost. If the cost increases by 25% but the selling price remains
constant, approximately what percentage of the selling price is the profit?

A. 70% B. 80%

C. 90% D. None of the above

Please mark (✓) for the correct answer.

The HCF of two numbers is 15 and their LCM is 300. If one of the number is 60, the other is :

A. 50 B. 75

C. 65 D. 100

Please mark (✓) for the correct answer.

A sum of Rs. 400 was lent out at simple interest and at the end of a year the total amount was Rs. 500. Find
the rate of interest per annum.

A. 4% B. 5%

C. 6% D. 7%

Please mark (✓) for the correct answer.

Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the interest rate is increased by 3% to how much
would it amount?

A. Rs. 892 B. Rs. 829

C. Rs. 992 D. Rs. 929

Please mark (✓) for the correct answer.

Fresh grapes contain 80% water while dry grapes contain 10% water. If the weight of dry grapes is 250 kg,
what is the total weight when it was fresh?

A. 1000 kg B. 1100 kg

C. 1125 kg D. 1225 kg

Please mark (✓) for the correct answer.

Question: 44 of 150 Marks: 4QID: 2001

Question: 45 of 150 Marks: 4QID: 2002

Question: 46 of 150 Marks: 4QID: 2003

Question: 47 of 150 Marks: 4QID: 2004

Question: 48 of 150 Marks: 4QID: 2005
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A seller allows a discount of 5% on a watch. If he allows a discount of 7% he earns Rs. 15 less in the profit.
What is the marked price?

A. Rs. 697.5 B. Rs. 712.5

C. Rs. 750 D. Rs. 817.5

Please mark (✓) for the correct answer.

A person invested Rs 1,600 for 3 years and Rs 1,100 for 4 years at the same rate of simple interest. The total
interest from these investments was Rs 506. Find the rate percent per annum.

A. 5.5% B. 5%

C. 6% D. 6.5%

Please mark (✓) for the correct answer.

A:B = 5:7 and B:C = 6:11. So, find A:B:C.

A. 42:30:77 B. 30:42:77

C. 26:40:25 D. 30:44:77

Please mark (✓) for the correct answer.

Three-fourth of a number is 60 more than its one-third. The number is :

A. 84 B. 108

C. 144 D. none

Please mark (✓) for the correct answer.

A number whose fth part increased by 4 is equal to its fourth part diminished by 10, is :

A. 240 B. 260

C. 270 D. 280

Please mark (✓) for the correct answer.

Question: 49 of 150 Marks: 4QID: 2006

Question: 50 of 150 Marks: 4QID: 2007

Question: 51 of 150 Marks: 4QID: 2008

Question: 52 of 150 Marks: 4QID: 2009

Question: 53 of 150 Marks: 4QID: 2010
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A car travelling at a speed of 40 km/h can complete a journey in 9h. How long will it take to travel the same
distance at 60km/h.

A. 5h B. 6h

C. 8h D. 9h

Please mark (✓) for the correct answer.

The average of runs of a cricket player of 10 innings was 32. How many runs must he make in his next
innings so as to increase his average of runs by 4 ?

A. 76 B. 55

C. 65 D. 50

Please mark (✓) for the correct answer.

The average of 7 consecutive numbers is 20. The largest of these numbers is :

A. 23 B. 21

C. 17 D. 33

Please mark (✓) for the correct answer.

One-fifth of a number is equal to 5/8 of another number. If 35 is added to the first number, it becomes four
times of the second number. The second number is :

A. 25 B. 40

C. 70 D. 125

Please mark (✓) for the correct answer.

The sum of two numbers is 25 and their difference is 13. Find their product.

A. 104 B. 114

C. 315 D. 325

Please mark (✓) for the correct answer.

Question: 54 of 150 Marks: 4QID: 2011

Question: 55 of 150 Marks: 4QID: 2012

Question: 56 of 150 Marks: 4QID: 2013

Question: 57 of 150 Marks: 4QID: 2014

Question: 58 of 150 Marks: 4QID: 2015
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12.1212 + 17.0005 - 9.1102 = ?

A. 20.0015 B. 20.0105

C. 20.0115 D. 20.1015

Please mark (✓) for the correct answer.

The G.C.D of 1.08, 0.36 and 0.9 is

A. 0.03 B. 0.9

C. 0.18 D. 0.108

Please mark (✓) for the correct answer.

Present ages of X and Y are in the ratio 5 : 6 respectively. Seven years hence this ratio will become 6 : 7
respectively. What is X?s present age in years ?

A. 35 B. 42

C. 49 D. cannot be determine

Please mark (✓) for the correct answer.

The total of the ages of Jayant, Prem and Saransh is 93 years. Ten years ago, the ratio of their ages was  2 : 3 : 4. What is the present
age of Saransh?

A. 24 years B. 32 years

C. 34 years D. 38 years

Please mark (✓) for the correct answer.

A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old
is B ?

A. 7 B. 8

C. 9 D. 10

Please mark (✓) for the correct answer.

Question: 59 of 150 Marks: 4QID: 2016

Question: 60 of 150 Marks: 4QID: 2017

Question: 61 of 150 Marks: 4QID: 2018

Question: 62 of 150 Marks: 4QID: 2019

Question: 63 of 150 Marks: 4QID: 2020

Page 16 of 38 Print ID: 20257814051669



The average age of 35 students in a class is 16 years. The average age of 21 students is 14. What is the
average age of remaining 14 students?

A. 15 years B. 17 years

C. 18 years D. 19 years

Please mark (✓) for the correct answer.

The average of runs of a cricket player of 10 innings was 32. How many runs must he make in his next
innings so as to increasse his average of runs by 4?

A. 2 B. 4

C. 70 D. 76

Please mark (✓) for the correct answer.

Of the four, whose average is 60, the first is one-fourth of the sum of the last three. The first number is :

A. 15 B. 45

C. 48 D. 60.25

Please mark (✓) for the correct answer.

A tub can be filled in 20 minutes but there is a leakage in it which can empty the full tub in 60 minutes.
In how many minutes it can be filled?

A. 10 minutes B. 30 minutes

C. 40 minutes D. 25 minutes

Please mark (✓) for the correct answer.

A can do a piece of work in 14 days while B can do it in 21 days. In how many days, working together they
will complete the whole work?

A. 10.5 B. 8

C. 8.4 D. 9

Please mark (✓) for the correct answer.

Question: 64 of 150 Marks: 4QID: 2021

Question: 65 of 150 Marks: 4QID: 2022

Question: 66 of 150 Marks: 4QID: 2023

Question: 67 of 150 Marks: 4QID: 2024

Question: 68 of 150 Marks: 4QID: 2025
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If a,b,c,d,e,f,g are seven consecutive odd number,their average is

A. (abcdefg/7) B. (a+6)

C. (a+b+c+d+e+f+g)/7 D. None of these

Please mark (✓) for the correct answer.

A cylinder whose base of circumference is 6 m can roll at a rate of 3 rounds per second. How much distance
will the cylinder cover in 9 seconds?

A. 162 m B. 149 m

C. 125 m D. 173 m

Please mark (✓) for the correct answer.

If a square, circle and rectangle has same perimeter then which one of them has the maximum area?

A. Circle B. Square

C. Rectangle D. All have equal area

Please mark (✓) for the correct answer.

The average of ten numbers is 7. If each number is multipied by 12, then the average of the new set of
numbers is :

A. 19 B. 82

C. 84 D. 7

Please mark (✓) for the correct answer.

A train 280 m long, running with a speed of 63. km /hr will pass .a tree in.:

A. 18 sec B. 16 sec

C. 20 sec D. 15 sec

Please mark (✓) for the correct answer.

Question: 69 of 150 Marks: 4QID: 2026

Question: 70 of 150 Marks: 4QID: 2027

Question: 71 of 150 Marks: 4QID: 2028

Question: 72 of 150 Marks: 4QID: 2029

Question: 73 of 150 Marks: 4QID: 2030
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If apples are bought at the rate of 30 for a rupee. How manyapples must be sold for a rupee so as to gain
20%?

A. 25 B. 28

C. 20 D. 22

Please mark (✓) for the correct answer.

In an examination amar got 8% less than the pass mark and mohan got 20% more than the pass mark. If
the difference between the percentage of their mark is 14, then what is the pass percentage

A. 60% B. 50%

C. 40% D. NONE

Please mark (✓) for the correct answer.

Choose the correct statement from the following 

A. it is diffcult to transport natural gas through pipes B. The disadvantage of natural gas is that it cannot be used
directly for burning in homes

C. natural gas is stored under high pressure as
compressed natural gas

D. natural gas cannot be used for power generation

Please mark (✓) for the correct answer.

If a person's clothes catch fire, the best way to extinguish the fire is to

A. throw water on the clothes B. use fire extinguisher

C. cover the person with a woolen blanket D. cover the person with a polythene sheet

Please mark (✓) for the correct answer.

Turmeric is a natural indicator. On adding its paste to acid and base separately, which colours would
be observed?

A. yellow in both acid and base B. yellow in acid and red in base

C. pink in acid and yellow in base D. red in acid and blue in base

Please mark (✓) for the correct answer.

Question: 74 of 150 Marks: 4QID: 2031

Question: 75 of 150 Marks: 4QID: 2032

Question: 76 of 150 Marks: 2QID: 2072

Question: 77 of 150 Marks: 2QID: 2073

Question: 78 of 150 Marks: 2QID: 2074
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Which of the following is not a plastid?

A. chloroplast B. chromoplast

C. leucoplast D. ribosome

Please mark (✓) for the correct answer.

Which of thee does not prevent growth of bacteria?

A. Salt B. oil

C. sugar D. water

Please mark (✓) for the correct answer.

Potable water is the water which is

A. obtained from a river B. obtained from a lake

C. pure and fit for drinking D. used only for washing clothes

Please mark (✓) for the correct answer.

Scientist who discovered the fermentation

A. alexander fleming B. louis pasteur

C. johann mendal D. charles darwin

Please mark (✓) for the correct answer.

Given below is a list of edible plants
(i) banana 
(ii) pumpkin 
(iii) lady nger 
(iv) brinjal
which pair of plants has two or more edible parts?

A. i and ii B. ii and iii

C. ii and iv D. i and iv

Please mark (✓) for the correct answer.

Question: 79 of 150 Marks: 2QID: 2075

Question: 80 of 150 Marks: 2QID: 2076

Question: 81 of 150 Marks: 2QID: 2077

Question: 82 of 150 Marks: 2QID: 2078

Question: 83 of 150 Marks: 2QID: 2079
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Cyanocobalamin is vitamin

A. 12 B. 1

C. 2 D. K

Please mark (✓) for the correct answer.

The objects which partially allow the light to pass through it are called

A. transparent B. luminous

C. opaque D. translucent

Please mark (✓) for the correct answer.

Which of the following can never form a circular shadow?

A. a ball B. a flat disc

C. a shoe box D. an icecream cone

Please mark (✓) for the correct answer.

Bouncing back of ray of light from shining surface on which it was incident is known as

A. refraction B. bending

C. reflection D. dispersion

Please mark (✓) for the correct answer.

The normal range of vocal cords in women is

A. 20mm B. 10mm

C. 15mm D. 40mm

Please mark (✓) for the correct answer.

Question: 84 of 150 Marks: 2QID: 2080

Question: 85 of 150 Marks: 2QID: 2063

Question: 86 of 150 Marks: 2QID: 2064

Question: 87 of 150 Marks: 2QID: 2065

Question: 88 of 150 Marks: 2QID: 2066
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The loudness of sound is determined by its

A. amplitude of vibration B. ratio of amplitude and frequence of vibration

C. frequency of vibration D. product of amplitude and frequency of vibration

Please mark (✓) for the correct answer.

Pick the synthetic bre out of the following

A. cotton B. nylon

C. jute D. wool

Please mark (✓) for the correct answer.

Wool fibre cannot be obtained from which of the following?

A. goat B. liama

C. alpaca D. moth

Please mark (✓) for the correct answer.

Phenolphthalein is a synthetic indicator and its colours in acid and basic solutions respectively are

A. red and blue B. blue and red

C. pink and colourless D. colourless and pink

Please mark (✓) for the correct answer.

Which of the following is not a common property of plastics?

A. non-reactive B. light in weight

C. durable D. good conductor of electricity

Please mark (✓) for the correct answer.

Question: 89 of 150 Marks: 2QID: 2067

Question: 90 of 150 Marks: 2QID: 2068

Question: 91 of 150 Marks: 2QID: 2069

Question: 92 of 150 Marks: 2QID: 2070

Question: 93 of 150 Marks: 2QID: 2071
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During dry weather while combing hair, sometimes we experience hair ying apart. The force
responsible for this is

A. force of gravity B. electrostatic force

C. force of friction D. magnetic force

Please mark (✓) for the correct answer.

On heating one end of iron rod, other end also gets heated. such materials are called

A. good conductor of heat B. good insulator of heat

C. bad conductor of heat D. heater

Please mark (✓) for the correct answer.

which one records the distance travelled by a vehicle?

A. speedometer B. manometer

C. motometer D. odometer

Please mark (✓) for the correct answer.

The pressure exerted by liquid due to increase in depth

A. reduces B. increases

C. remains same D. depends on the nature of liquid

Please mark (✓) for the correct answer.

Which of the following is not always necessary to observe a shadow ?

A. sun B. screen

C. source of light D. opaque object

Please mark (✓) for the correct answer.

Question: 94 of 150 Marks: 2QID: 2058

Question: 95 of 150 Marks: 2QID: 2059

Question: 96 of 150 Marks: 2QID: 2060

Question: 97 of 150 Marks: 2QID: 2061

Question: 98 of 150 Marks: 2QID: 2062
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Minerals and vitamins present in food are

A. protective B. energy giving

C. body building D. roughage

Please mark (✓) for the correct answer.

The most common carrier of communicable diseases is

A. ant B. housefly

C. dragonfly D. spider

Please mark (✓) for the correct answer.

Instruction: Complete the following series.
17 19 23 29 31 37---

A. 41 B. 43

C. 49 D. 45

Please mark (✓) for the correct answer.

169 121 49 25 9--

A. 4 B. 1

C. 3 D. 5

Please mark (✓) for the correct answer.

64 125 216 343 512 729 ___

A. 1331 B. 1000

C. 1728 D. 1200

Please mark (✓) for the correct answer.

Question: 99 of 150 Marks: 2QID: 2081

Question: 100 of 150 Marks: 2QID: 2082

Question: 101 of 150 Marks: 2QID: 2033

Question: 102 of 150 Marks: 2QID: 2034

Question: 103 of 150 Marks: 2QID: 2035
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8, 14, 26, 44, 68 (?)

A. 94 B. 96

C. 98 D. 100

Please mark (✓) for the correct answer.

4 8 24 120 840---

A. 8640 B. 7390

C. 9240 D. 6480

Please mark (✓) for the correct answer.

5 11 77 85 765---

A. 4327 B. 775

C. 845 D. 6432

Please mark (✓) for the correct answer.

120, 99, 80, 63, 48, ?

A. 35 B. 38

C. 39 D. 40

Please mark (✓) for the correct answer.

144 196 256 324 400 484 ___

A. 625 B. 576

C. 684 D. 529

Please mark (✓) for the correct answer.

Question: 104 of 150 Marks: 2QID: 2036

Question: 105 of 150 Marks: 2QID: 2037

Question: 106 of 150 Marks: 2QID: 2038

Question: 107 of 150 Marks: 2QID: 2039

Question: 108 of 150 Marks: 2QID: 2040
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27 125 343 729 1331---

A. 1728 B. 2744

C. 2197 D. 3375

Please mark (✓) for the correct answer.

3, 10, 101,?

A. 10101 B. 10201

C. 10202 D. 11012

Please mark (✓) for the correct answer.

11 22 35 52 71 94---

A. 117 B. 119

C. 123 D. 113

Please mark (✓) for the correct answer.

11 12 16 25 41 66---

A. 104 B. 102

C. 100 D. 110

Please mark (✓) for the correct answer.

11 12 20 47 111---

A. 205 B. 215

C. 236 D. 222

Please mark (✓) for the correct answer.

Question: 109 of 150 Marks: 2QID: 2041

Question: 110 of 150 Marks: 2QID: 2042

Question: 111 of 150 Marks: 2QID: 2043

Question: 112 of 150 Marks: 2QID: 2044

Question: 113 of 150 Marks: 2QID: 2045
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1 2 6 24 120---

A. 720 B. 1440

C. 840 D. 960

Please mark (✓) for the correct answer.

2 5 17 65 257--

A. 1055 B. 1110

C. 995 D. 1025

Please mark (✓) for the correct answer.

Instruction: - Complete the following letter series-
b c d f g h k l m n __

A. p B. o

C. q D. r

Please mark (✓) for the correct answer.

A F K P U __

A. V B. B

C. E D. Z

Please mark (✓) for the correct answer.

A B D H ___

A. P B. T

C. X D. H

Please mark (✓) for the correct answer.

Question: 114 of 150 Marks: 2QID: 2046

Question: 115 of 150 Marks: 2QID: 2047

Question: 116 of 150 Marks: 2QID: 2048

Question: 117 of 150 Marks: 2QID: 2049

Question: 118 of 150 Marks: 2QID: 2050
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AZ EV___OL UF

A. IP B. IR

C. IN D. MN

Please mark (✓) for the correct answer.

BV CU ES HP LL QG

A. VB B. WB

C. WA D. WC

Please mark (✓) for the correct answer.

PLD QJG RHJ SFM TDP ____

A. UCR B. UDT

C. UBR D. UBS

Please mark (✓) for the correct answer.

ZAB,WDE,SHI,NMA,?

A. VEF B. UFG

C. FUG D. HSG

Please mark (✓) for the correct answer.

AEIO EIOU IOUA OUAE ____

A. AEIO B. EIOU

C. UAEI D. UEAI

Please mark (✓) for the correct answer.

Question: 119 of 150 Marks: 2QID: 2051

Question: 120 of 150 Marks: 2QID: 2052

Question: 121 of 150 Marks: 2QID: 2053

Question: 122 of 150 Marks: 2QID: 2054

Question: 123 of 150 Marks: 2QID: 2055
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1K1 1L2 1N4 1Q7 ____

A. 2X4 B. 2U2

C. 2U1 D. 2T1

Please mark (✓) for the correct answer.

2F3 3L4 4T5 5D6 ___

A. 6P7 B. 6R7

C. 6T7 D. 6V7

Please mark (✓) for the correct answer.

Who among the following founded the young Bengal movement?

A. Ram Krishna Paramhansa B. S. N. Banerjee

C. Devendra Nath Tagore D. Henry Vivian Derozio

Please mark (✓) for the correct answer.

According to the census 2011 the population density of India is:

A. 385 persons per sq. km. B. 382 persons per sq. km.

C. 390 persons per sq. km D. 380 persons per sq. km

Please mark (✓) for the correct answer.

The Bhopla Gas Tragedy occured in which of the following year?

A. 1984 B. 1980

C. 1986 D. 1989

Please mark (✓) for the correct answer.

Question: 124 of 150 Marks: 2QID: 2056

Question: 125 of 150 Marks: 2QID: 2057

Question: 126 of 150 Marks: 2QID: 2083

Question: 127 of 150 Marks: 2QID: 2084

Question: 128 of 150 Marks: 2QID: 2085
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Which of the following cities is known as the 'Silicon Plateau?

A. Mumbai B. Bengaluru

C. Hydrabad D. Chennai

Please mark (✓) for the correct answer.

Who among the following divided Indian history based on the religion of the rulers into three periods
Hindu, Muslim and British?

A. james princep B. stuarat mill

C. warren hastings D. james mill

Please mark (✓) for the correct answer.

The purpose of the "Directive principles of State Policy", is to ensure;

A. Social reforms B. Economic Reforms

C. Both a and b D. none of these

Please mark (✓) for the correct answer.

Consider the following statements about Rajya Sabha
(1). It is also called the 'Council of states
(2). it has 233 elected members
(3). it has 14 nominated members by the president of India
Select the correct answer using the code given below

A. both 1 & 3 B. both 2 & 3

C. only 2 D. both 1 & 2

Please mark (✓) for the correct answer.

Which one of the following statements is incorrect about subsistence farming?

A. it is mainly practised to meet the needs of the farmer's
family

B. Mechanised harvesting techniques are used in this
farming

C. it does it not need intensive labour D. it needs less technology

Please mark (✓) for the correct answer.

Question: 129 of 150 Marks: 2QID: 2086

Question: 130 of 150 Marks: 2QID: 2087

Question: 131 of 150 Marks: 2QID: 2088

Question: 132 of 150 Marks: 2QID: 2089

Question: 133 of 150 Marks: 2QID: 2090
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In 1992, Gandhiji abruply called o the non-cooperation Movement because

A. a crowd of peasants set fire to a police station in chauri
chaura

B. ideological differences emerged between Gandhiji and
other leaders

C. Gandhiji was unhappy with the passing of Rowlatt Act D. none of the above

Please mark (✓) for the correct answer.

Which of the following minerals is also known as 'Black gold'?

A. petroleum B. diesel

C. coal D. natural gas

Please mark (✓) for the correct answer.

which of the following statements is/ are correct about the parliamentary form of Government in
India.

A. All citizens of the country, irrespective of their social
background, have a direct role in electing their
representatives

B. the consitution guarantees universal adult suffrage for all
citizens

C. the representative are accountable to the people D. all of the above

Please mark (✓) for the correct answer.

TISCO the leading steel producing company in India was established in

A. 1947 B. 1907

C. 1917 D. 1922

Please mark (✓) for the correct answer.

Who among the following was not associated with the Battle of Plassey?

A. sirajuddaulah B. Robert clive

C. mir jafar D. murshid quli khan

Please mark (✓) for the correct answer.

Question: 134 of 150 Marks: 2QID: 2091

Question: 135 of 150 Marks: 2QID: 2092

Question: 136 of 150 Marks: 2QID: 2093

Question: 137 of 150 Marks: 2QID: 2094

Question: 138 of 150 Marks: 2QID: 2095
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Which of the following can be used as primary source of history

A. Epic poetry B. Public opinion

C. Manuscripts D. all of these

Please mark (✓) for the correct answer.

To ensure that workers are not under paid but are paid fairly, which of the following measures have
been taken by the government.

A. minimum wages for all levels of workers have been set. B. government gives subsidy to private employees

C. government gives compensation to the workers D. none of the above

Please mark (✓) for the correct answer.

Who among the following led the Revolt of 1857 at Kanpur?

A. Nana Sahab B. Kunwar singh

C. Rani Avantibai Lodhi D. Begum Hazrat Mahal

Please mark (✓) for the correct answer.

Which one of the following statements is not correct about the lok sabha?

A. it is also known as the house of people B. its present strength is 545

C. its maximum strength can be 548 D. it has two nominated members by the president of india
from the Anglo-Indian community

Please mark (✓) for the correct answer.

The dispute relating to sale/purchase of an article is a subject to

A. Criminal law B. Civil law

C. both a and b D. none of these

Please mark (✓) for the correct answer.

Question: 139 of 150 Marks: 2QID: 2096

Question: 140 of 150 Marks: 2QID: 2097

Question: 141 of 150 Marks: 2QID: 2098

Question: 142 of 150 Marks: 2QID: 2099

Question: 143 of 150 Marks: 2QID: 2100
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What proportion of earth's surface is covered by land?

A. 30% B. 70%

C. 35% D. 75%

Please mark (✓) for the correct answer.

Which of the following features of soil is/are determined by the parent rocks?

A. minerls B. colour

C. textrue D. all of the above

Please mark (✓) for the correct answer.

The east India company established its first factory in which year?

A. 1624 B. 1611

C. 1602 D. 1619

Please mark (✓) for the correct answer.

Who among the following is known as 'The Tiger of Mysore?

A. haider ali B. zafar khan

C. tipu sultan D. bakht khan

Please mark (✓) for the correct answer.

Which of the following is/are correct about FIR?

A. police can begin investigation into a crime only after
registration of an FIR

B. it is compulsory for an officer-in-charge of a police station
to register an FIR, when a person gives
information about a cognisable offence

C. the FIR usually consist of the date, time and place of the
offence

D. all of the above

Please mark (✓) for the correct answer.

Question: 144 of 150 Marks: 2QID: 2101

Question: 145 of 150 Marks: 2QID: 2102

Question: 146 of 150 Marks: 2QID: 2103

Question: 147 of 150 Marks: 2QID: 2104

Question: 148 of 150 Marks: 2QID: 2105
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Which of the following has the power to impeach the president of India?

A. The supreme court of India B. the Rajya Sabha

C. The Lok Sabha D. The Parliament

Please mark (✓) for the correct answer.

In which year the 'Permanent settlement' was introduced?

A. 1773 B. 1793

C. 1784 D. 1792

Please mark (✓) for the correct answer.

 

Question: 149 of 150 Marks: 2QID: 2106

Question: 150 of 150 Marks: 2QID: 2107

--- END OF QUESTION PAPER ---
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No Question Type QID Correct Answer
Question - 1 Multiple Choice (Radiobutton) 1967 B

Question - 2 Multiple Choice (Radiobutton) 1968 A

Question - 3 Multiple Choice (Radiobutton) 1969 D

Question - 4 Multiple Choice (Radiobutton) 1970 B

Question - 5 Multiple Choice (Radiobutton) 1971 C

Question - 6 Multiple Choice (Radiobutton) 1972 A

Question - 7 Multiple Choice (Radiobutton) 1979 A

Question - 8 Multiple Choice (Radiobutton) 1958 A

Question - 9 Multiple Choice (Radiobutton) 1973 C

Question - 10 Multiple Choice (Radiobutton) 1974 A

Question - 11 Multiple Choice (Radiobutton) 1975 A

Question - 12 Multiple Choice (Radiobutton) 1976 A

Question - 13 Multiple Choice (Radiobutton) 1977 A

Question - 14 Multiple Choice (Radiobutton) 1978 A

Question - 15 Multiple Choice (Radiobutton) 1959 C

Question - 16 Multiple Choice (Radiobutton) 1980 A

Question - 17 Multiple Choice (Radiobutton) 1981 A

Question - 18 Multiple Choice (Radiobutton) 1982 A

Question - 19 Multiple Choice (Radiobutton) 1960 A

Question - 20 Multiple Choice (Radiobutton) 1961 B

Question - 21 Multiple Choice (Radiobutton) 1962 B

Question - 22 Multiple Choice (Radiobutton) 1963 B

Question - 23 Multiple Choice (Radiobutton) 1964 B

Question - 24 Multiple Choice (Radiobutton) 1965 C

Question - 25 Multiple Choice (Radiobutton) 1966 A

Question - 26 Multiple Choice (Radiobutton) 1983 B

Question - 27 Multiple Choice (Radiobutton) 1984 C

Question - 28 Multiple Choice (Radiobutton) 1985 D

Question - 29 Multiple Choice (Radiobutton) 1986 B

Question - 30 Multiple Choice (Radiobutton) 1987 C

Question - 31 Multiple Choice (Radiobutton) 1988 A

Question - 32 Multiple Choice (Radiobutton) 1989 C

Question - 33 Multiple Choice (Radiobutton) 1990 C

Question - 34 Multiple Choice (Radiobutton) 1991 B

Question - 35 Multiple Choice (Radiobutton) 1992 D

Question - 36 Multiple Choice (Radiobutton) 1993 B

Question - 37 Multiple Choice (Radiobutton) 1994 C

Question - 38 Multiple Choice (Radiobutton) 1995 B

Question - 39 Multiple Choice (Radiobutton) 1996 D

Question - 40 Multiple Choice (Radiobutton) 1997 C

Question - 41 Multiple Choice (Radiobutton) 1998 B

Question - 42 Multiple Choice (Radiobutton) 1999 A
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Question - 43 Multiple Choice (Radiobutton) 2000 A

Question - 44 Multiple Choice (Radiobutton) 2001 A

Question - 45 Multiple Choice (Radiobutton) 2002 B

Question - 46 Multiple Choice (Radiobutton) 2003 A

Question - 47 Multiple Choice (Radiobutton) 2004 C

Question - 48 Multiple Choice (Radiobutton) 2005 C

Question - 49 Multiple Choice (Radiobutton) 2006 C

Question - 50 Multiple Choice (Radiobutton) 2007 A

Question - 51 Multiple Choice (Radiobutton) 2008 B

Question - 52 Multiple Choice (Radiobutton) 2009 C

Question - 53 Multiple Choice (Radiobutton) 2010 D

Question - 54 Multiple Choice (Radiobutton) 2011 B

Question - 55 Multiple Choice (Radiobutton) 2012 A

Question - 56 Multiple Choice (Radiobutton) 2013 A

Question - 57 Multiple Choice (Radiobutton) 2014 B

Question - 58 Multiple Choice (Radiobutton) 2015 B

Question - 59 Multiple Choice (Radiobutton) 2016 C

Question - 60 Multiple Choice (Radiobutton) 2017 C

Question - 61 Multiple Choice (Radiobutton) 2018 C

Question - 62 Multiple Choice (Radiobutton) 2019 D

Question - 63 Multiple Choice (Radiobutton) 2020 A

Question - 64 Multiple Choice (Radiobutton) 2021 A

Question - 65 Multiple Choice (Radiobutton) 2022 A

Question - 66 Multiple Choice (Radiobutton) 2023 A

Question - 67 Multiple Choice (Radiobutton) 2024 A

Question - 68 Multiple Choice (Radiobutton) 2025 A

Question - 69 Multiple Choice (Radiobutton) 2026 B

Question - 70 Multiple Choice (Radiobutton) 2027 C

Question - 71 Multiple Choice (Radiobutton) 2028 B

Question - 72 Multiple Choice (Radiobutton) 2029 D

Question - 73 Multiple Choice (Radiobutton) 2030 D

Question - 74 Multiple Choice (Radiobutton) 2031 B

Question - 75 Multiple Choice (Radiobutton) 2032 C

Question - 76 Multiple Choice (Radiobutton) 2072 C

Question - 77 Multiple Choice (Radiobutton) 2073 C

Question - 78 Multiple Choice (Radiobutton) 2074 B

Question - 79 Multiple Choice (Radiobutton) 2075 D

Question - 80 Multiple Choice (Radiobutton) 2076 D

Question - 81 Multiple Choice (Radiobutton) 2077 C

Question - 82 Multiple Choice (Radiobutton) 2078 B

Question - 83 Multiple Choice (Radiobutton) 2079 A

Question - 84 Multiple Choice (Radiobutton) 2080 A

Question - 85 Multiple Choice (Radiobutton) 2063 D

Question - 86 Multiple Choice (Radiobutton) 2064 C

Question - 87 Multiple Choice (Radiobutton) 2065 C

Question - 88 Multiple Choice (Radiobutton) 2066 C

No Question Type QID Correct Answer
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Question - 89 Multiple Choice (Radiobutton) 2067 A

Question - 90 Multiple Choice (Radiobutton) 2068 B

Question - 91 Multiple Choice (Radiobutton) 2069 D

Question - 92 Multiple Choice (Radiobutton) 2070 D

Question - 93 Multiple Choice (Radiobutton) 2071 D

Question - 94 Multiple Choice (Radiobutton) 2058 A

Question - 95 Multiple Choice (Radiobutton) 2059 A

Question - 96 Multiple Choice (Radiobutton) 2060 D

Question - 97 Multiple Choice (Radiobutton) 2061 B

Question - 98 Multiple Choice (Radiobutton) 2062 A

Question - 99 Multiple Choice (Radiobutton) 2081 A

Question - 100 Multiple Choice (Radiobutton) 2082 B

Question - 101 Multiple Choice (Radiobutton) 2033 A

Question - 102 Multiple Choice (Radiobutton) 2034 A

Question - 103 Multiple Choice (Radiobutton) 2035 B

Question - 104 Multiple Choice (Radiobutton) 2036 C

Question - 105 Multiple Choice (Radiobutton) 2037 C

Question - 106 Multiple Choice (Radiobutton) 2038 A

Question - 107 Multiple Choice (Radiobutton) 2039 A

Question - 108 Multiple Choice (Radiobutton) 2040 B

Question - 109 Multiple Choice (Radiobutton) 2041 C

Question - 110 Multiple Choice (Radiobutton) 2042 C

Question - 111 Multiple Choice (Radiobutton) 2043 C

Question - 112 Multiple Choice (Radiobutton) 2044 B

Question - 113 Multiple Choice (Radiobutton) 2045 C

Question - 114 Multiple Choice (Radiobutton) 2046 A

Question - 115 Multiple Choice (Radiobutton) 2047 D

Question - 116 Multiple Choice (Radiobutton) 2048 D

Question - 117 Multiple Choice (Radiobutton) 2049 D

Question - 118 Multiple Choice (Radiobutton) 2050 A

Question - 119 Multiple Choice (Radiobutton) 2051 B

Question - 120 Multiple Choice (Radiobutton) 2052 C

Question - 121 Multiple Choice (Radiobutton) 2053 D

Question - 122 Multiple Choice (Radiobutton) 2054 D

Question - 123 Multiple Choice (Radiobutton) 2055 C

Question - 124 Multiple Choice (Radiobutton) 2056 C

Question - 125 Multiple Choice (Radiobutton) 2057 A

Question - 126 Multiple Choice (Radiobutton) 2083 D

Question - 127 Multiple Choice (Radiobutton) 2084 B

Question - 128 Multiple Choice (Radiobutton) 2085 A

Question - 129 Multiple Choice (Radiobutton) 2086 B

Question - 130 Multiple Choice (Radiobutton) 2087 D

Question - 131 Multiple Choice (Radiobutton) 2088 C

Question - 132 Multiple Choice (Radiobutton) 2089 D

Question - 133 Multiple Choice (Radiobutton) 2090 B

Question - 134 Multiple Choice (Radiobutton) 2091 A

Question - 135 Multiple Choice (Radiobutton) 2092 A

No Question Type QID Correct Answer
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Question - 136 Multiple Choice (Radiobutton) 2093 D

Question - 137 Multiple Choice (Radiobutton) 2094 B

Question - 138 Multiple Choice (Radiobutton) 2095 D

Question - 139 Multiple Choice (Radiobutton) 2096 D

Question - 140 Multiple Choice (Radiobutton) 2097 A

Question - 141 Multiple Choice (Radiobutton) 2098 A

Question - 142 Multiple Choice (Radiobutton) 2099 C

Question - 143 Multiple Choice (Radiobutton) 2100 B

Question - 144 Multiple Choice (Radiobutton) 2101 A

Question - 145 Multiple Choice (Radiobutton) 2102 D

Question - 146 Multiple Choice (Radiobutton) 2103 B

Question - 147 Multiple Choice (Radiobutton) 2104 C

Question - 148 Multiple Choice (Radiobutton) 2105 D

Question - 149 Multiple Choice (Radiobutton) 2106 D

Question - 150 Multiple Choice (Radiobutton) 2107 B

No Question Type QID Correct Answer
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